2 6 4EREE (4 0E)
hEiY 2 =7 I EFERR IHE#hX F%E

(BF15m~1 7 &)

%

78228 SNE294 - Riz24
6,705YARD PAR72 . JU—2e)LBET LB RER
B K £ OB ZE|oUT|IN|& | B =
1 B % A |(HEREPES 1 | 36| 35| 71 [FTEEB
2k B — Bt |ZEMmEE i 3 | 39| 35| 74 |FEES
2B A P EREB 3| 37| 37| 74|%=E@AE
4= B R = T R & 2 38 | 37 15 || F & @
41t B &= 18 B EEERRES: 3 | 37| 38 15 [|FE @B
6|52 M ¥ B T R & P 39 | 38 17 | FE &
TE B B # |RBEREPES: 1| 43| 38| 81 |FEBG
IR E X |7 B P3| 39| 42| 81 [|FEES
9 |# #& b I REEERES 1 43 | 39 82
Pk & B 7 I BEE 3 | 42| 43 85
10 i & ik IFBREEZEEE: 2 | 41 | 44 85
12|H H &K B Ik BEEEERES: 2 45 | M 86
1218 #+ B Ik B EEfERES: 2 | 43 | 43 86
1219 R K 1A Ik B EEEREE: 1 39 | 47 86
15|87 B # XENXS 2 | 46 | 41 87
157 B #h & |EENES 3| 43| 44| 87
1713 F @ A RS 1 45 | 43 88
182 Bk B th |BERRS i1 | 41| 48| 89
1ol6E 4 2 A |REEERES 2 | 4| 46| 90
20(E B8 E 7 |ZEmEs 1| 43| 48| 9
21 | B A A XENXS 1 45 | 47 92
22 |W BB & 46 |FERAEIRE | 3 | 48| 46| 94
2208 # kK # |HEDEYES 2 | 42| 52| 9
24|52 0 &£ X |KEBEE#ME | 2 | 50| 49| 99
25|1F b B & BERES 2 53 | 52 | 105
1/2R= FETIILER



7H228 (k) ZNE294 - Ri524
6,705YARD PAR72 R JY)—2be )LD L DB EER
B K& B izElouT|IN|& | B =
2%6|E 2 B = |(EBEMBRS 1| 58| 58
27 |0 B 1E & HRAAIRGS 3 | 61| 58
28|18 T 2 b |(IREFE—F 3 | 58| 67
AN R KX |RRE—S 1 e
2 K X |(KEE—F 3 R 15
H & & & B RS 2 R 15
2/2R= hETIILTER



A2 6 45K (84 0H)
P2 =7 T EFERHR REHR TR
BFBF12m~1 45%)

%

7R228 () ZIN&E26%4 - Ri504
6,323YARD PAR72 . J)—2be LTIV ERER
I £z K 4 i FEIOUT|I N|& B & &
1 ER/IN & & |f8 A 1 37 | 40 11 | FE@EE
1|8 H = IE Hr L 2 || 34| 43 17 |FEEE
3| I & & |BEREWH 1 40 | 38 18 (FE &R
4|97 R & 1E B B 3 43 | 36 19 (FE @8
412 HE 2 EiRmzES 1 40 | 39 19 ([FEERE
6 [F FF i 1 ZEaRASMES 3 | 40| 40 80 [FE @B
6|°F F B K |4 BE & 1 37 | 43 80 [FE &R
8|S E & 7t F R H 3 | 43| 39 82
8|Fft W = = A o & 2 | 41| M 82
10 |AtLE Jx F  |FRAAIR 1 42 | 42 84
10 |#% & #i BeE 2 | 39| 45 84
12| xR E RRRH¥ 3 | 45| 40 85
12|14 B ] &= EX%Nch 2 | 43| 42 85
14 |BEEE  #H  |F & 3| 42| 44 86
15| [F BARE |FFRAAIEF 1 46 | 41 87
16 /M B Bt |(BERED 1 41 | 48 89
17/ F — T B4 1 45 | 45 90
17 |lu B & ZE ol 2 | 40| 50 90
19 |8 ™ %5 # ER & 2 | 48| 46 94
20 |18 15 2 EXEN o 1 44 | 51 95
21 (8 # B H# HRAAIR 1 49 | 51 | 100
22 |85 K Wt |IERBEEIHMES 0 1 52 | 51| 103
22 )k B B #£ |EBEIRET 2 | 51| 52| 103
24 7 ¥ [E BERRD 1 46 | 60 | 106
25 |4 B X 9t HIRARIRA 1 53 | 59 | 112
26 |B+jE RE = |EBEIREF 2 | 45| 68| 113
1/1 /8= chif = L 7ER




FRL2 644 0[E)
B 1 =7 5L BEMRHE BEBETR
(ZF15@~178%) HiE®

7HA22B8 k) SmE14%-RIF14

5.981YARD PAR72 . 91— e VBT LB R E
B K £ OB iZE|ouT|I N|& | B =
1N B2 |FEATRS 2 | 37| 33| 70 |®EEE
2l B B oKk |(HEREEPES 2 | 37| 36| 73 |FEESE
2| & W £ |xBEERES 2 | 36| 37| 73 |FRES
4140 B E R |ERmMES P3| 39| 35| 74 [|FEmES
4|ARE B 7 |KBEEPFEG 1 | 38| 36| 74 |FRER
4lE B P EEEFES 1 | 37| 37| 74 |FREE
T A E BERAARS 1| 40| 35| 75 |¥&EA
8| H EXF¥ [XENXS 2 41 | 36 17 |[FEEE
oldh = & F |KEBXKS 1| 44| 37| 81
100% #F x W EEMEXS 1 42 | 40 82
11| # = & |(REHILLS 1| 41| 43| 84
12|K 71 & & EEMXS 3| 44| 45 89
1IB1F B KX X EEMXS 1 44 | 50 94
14(5 B £ &8 |EENES 3| 49| 47| 96
2 &\ XEMKS 1 R i5

1/1R=2 FETILDER




TH2 648 (84 0
PEIT 2 =7 TV JBEFIEHR R PR

(ZF12m~1 4 &)

78228 (k)
5981YARD PAR72

SME142-RIF514

9%

. ) —2bILET LB RER

B K % OB gE|oUT|I N|& Bt & =
1| I FAE (M 2| 38| 39| 77 (|FEEE
ok O & WM E S 3| 4] 39| 80 |FREE
2|4 B B & |EEEHR 2 | 41| 39| 80 [FEEE
Al B ES |mEF 2| 38| 4| 81 |FEBEE
4al& 7 ok 2 |ZEmEP [ 3 || 37| 44| 81
6|l @ E B |BkF i 3| 46| 40| 86
7@ B E @ |t BB i 2| 44| 45| 89
sle # #1 F |R& B 2| 4| 47| 92
8l&d W & E |WkES P2 | 44| 48| 92
10% 8 B R |FRERKARS: 1 | 47| 49| 96
11 |# B M & |FRERKAIRF: 1 | 51| 46| 97
21 %k £ B |WHEs i 2 || 52| 55| 107
13|/ B BEkE |FRAAIRS: 3 | 56 | 62| 118

E OB X B |EBEE =ik
& OB N B |E@Es L 2 R 15
1/1R=2 L DER



	2014cgajr gifu m15-17 seiseki
	2014cgajr gifu m12-14 seiseki
	2014cgajr gifu w15-17 seiseki
	2014cgajr gifu w12-14 seiseki

